
DÜNYA İÇİN ÜRETİYORUZ...

PRODUCE FOR THE WORLD

MERITOR

D3 ... 
Series



150 OEM numbers names and logos just only used for references

DEEP NUMBER -  3531 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11461  BUSH Ø 32 x 36 / 40 MM 2

2 11464  BUSH Ø 32-33 x 36 / 30MM 1

3 10023 PIN BOOT 2

4 11546 PIN CAP Ø 37 / 12 MM 2

5 11547 DUST COVER 2

6 11023 CALIPER PIN Ø 32 / 117 MM 1

OEM NO SJ4011 / MCK1213 / SJ1228
DENNIS: 65507911 /
MERCEDES: 000 420 0276
MAN: 81.50802.6008 / 
81.50802.6009

7 11017 CALIPER PIN Ø 32 / 74 MM 1

8 11145 PIN BOLT Ø M18 x 1.5/120 MM 1

9 11143 PIN BOLT Ø M18 x 1.5 / 95 MM 1

DEEP NUMBER -  3532 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11464  BUSH Ø 32-33 x 36 / 30MM 1

2 10023 PIN BOOT 2

3 11546 PIN CAP Ø 37 / 12 MM 2

4 11547 DUST COVER 2

5 11023 CALIPER PIN Ø 32 / 117 MM 1

6 11017 CALIPER PIN Ø 32 / 74 MM 1

OEM NO SJ1213 / 
MERCEDES: A 000 420 0676

7 11145 PIN BOLT Ø M18 x 1.5/120 MM 1

8 11143 PIN BOLT Ø M18 x 1.5 / 95 MM 1

DEEP NUMBER -  3533 Caliper Guides & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10023 PIN BOOT 2

2 11546 PIN CAP Ø 37 / 12 MM 2

3 11547 DUST COVER 2

4 11023 CALIPER PIN Ø 32 / 117 MM 1

5 11017 CALIPER PIN Ø 32 / 74 MM 1

6 11145 PIN BOLT Ø M18 x 1.5/120 MM 1

OEM NO SJ4001 / RENAULT: 5001 822 994 / 
5001 822 998

7 11143 PIN BOLT Ø M18 x 1.5 / 95 MM 1

MERITOR TYPE

D3 ... Series



151www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3534 Caliper Tappet Cover Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10023 PIN DUST COVER 2

OEM NO

DEEP NUMBER -  3535 Caliper Repair Kit Front-Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 3543 SPLINE SHAFT SET LEFT 48 TEETH 1

2 3550 SPLINE SHAFT COVER SET 1

3 3571 MANUEL ADJUSTER REPAIR KIT 1

4 3547 ADJUSTER GEAR LEFT 1

5 11257 MECHANISM SPRING 1

6 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

OEM NO 7 11295 SPLINE SHAFT THRUST 1

8 11297 SPLINE SHAFT BALL BEARING 1

9 11319 WAVY WASHER 1

DEEP NUMBER -  3536 Caliper Repair Kit Front-Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 3544 SPLINE SHAFT SET RIGHT 48 TEETH 1

2 3550 SPLINE SHAFT COVER SET 1

3 3571 MANUEL ADJUSTER REPAIR KIT 1

4 3548 ADJUSTER GEAR RIGHT 1

5 11257 MECHANISM SPRING 1

6 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

OEM NO 7 11295 SPLINE SHAFT THRUST 1

8 11297 SPLINE SHAFT BALL BEARING 1

9 11319 WAVY WASHER 1

MERITOR TYPE

D3 ... Series



152 OEM numbers names and logos just only used for references

DEEP NUMBER -  3537 Caliper Repair Kit Rear-Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 3545 SPLINE SHAFT SET LEFT 26 TEETH 1

2 3550 SPLINE SHAFT COVER SET 1

3 3571 MANUEL ADJUSTER REPAIR KIT 1

4 3547 ADJUSTER GEAR LEFT 1

5 11257 MECHANISM SPRING 1

6 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

OEM NO 7 11295 SPLINE SHAFT THRUST 1

8 11297 SPLINE SHAFT BALL BEARING 1

9 11319 WAVY WASHER 1

DEEP NUMBER -  3538 Caliper Repair Kit Rear-Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 3546 SPLINE SHAFT SET RIGHT 26 TEETH 1

2 3550 SPLINE SHAFT COVER SET 1

3 3571 MANUEL ADJUSTER REPAIR KIT 1

4 3548 ADJUSTER GEAR RIGHT 1

5 11257 MECHANISM SPRING 1

6 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

OEM NO 7 11295 SPLINE SHAFT THRUST 1

8 11297 SPLINE SHAFT BALL BEARING 1

9 11319 WAVY WASHER 1

DEEP NUMBER -  3539 Caliper Repair Kit Front-left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 3541 SPLINE SHAFT SET LEFT 26 TEETH 1

2 3550 SPLINE SHAFT COVER SET 1

3 3571 MANUEL ADJUSTER REPAIR KIT 1

4 3547 ADJUSTER GEAR LEFT 1

5 11257 MECHANISM SPRING 1

6 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

OEM NO 7 11295 SPLINE SHAFT THRUST 1

8 11297 SPLINE SHAFT BALL BEARING 1

9 11319 WAVY WASHER 1

MERITOR TYPE

D3 ... Series



153www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3540 Caliper Repair Kit Front-Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 3542 SPLINE SHAFT SET RIGHT 26 TEETH 1

2 3550 SPLINE SHAFT COVER SET 1

3 3571 MANUEL ADJUSTER REPAIR KIT 1

4 3548 ADJUSTER GEAR RIGHT 1

5 11257 MECHANISM SPRING 1

6 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

OEM NO 7 11295 SPLINE SHAFT THRUST 1

8 11297 SPLINE SHAFT BALL BEARING 1

9 11319 WAVY WASHER 1

DEEP NUMBER -  3542 Caliper Spline Shaft Set (Right)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11634 BEARING HOUSE RIGHT 26 TEETH 1

2 11638 SPLINE SHAFT RIGHT 1

OEM NO

DEEP NUMBER -  3543 Caliper Spline Shaft Set (Left)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11633 BEARING HOUSE LEFT 48 TEETH 1

2 11639 SPLINE SHAFT LEFT 1

OEM NO

DEEP NUMBER -  3541 Caliper Spline Shaft Set (Left)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11635 BEARING HOUSE LEFT 26 TEETH 1

2 11639 SPLINE SHAFT LEFT 1

OEM NO

MERITOR TYPE

D3 ... Series



154 OEM numbers names and logos just only used for references

DEEP NUMBER -  3544 Caliper Spline Shaft Set (Right)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11632 BEARING HOUSE RIGHT 48 TEETH 1

2 11638 SPLINE SHAFT RIGHT 1

OEM NO

DEEP NUMBER -  3545 Caliper Spline Shaft Set (Left)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11637 BEARING HOUSE LEFT 26 TEETH 1

2 11639 SPLINE SHAFT LEFT 1

OEM NO

DEEP NUMBER -  3546 Caliper Spline Shaft Set (Right)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11636 BEARING HOUSE RIGHT 26 TEETH 1

2 11638 SPLINE SHAFT RIGHT 1

OEM NO

DEEP NUMBER -  3547 Adjusting Gear (Left)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11641 ADJUSTING GEAR L 1

2 11167 ADJUSTING BOLT 1

OEM NO

MERITOR TYPE

D3 ... Series



155www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3548 Adjusting Gear (Right)

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11641 ADJUSTING GEAR R 1

2 11168 ADJUSTING BOLT 1

OEM NO

DEEP NUMBER -  10056 Caliper Cover

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3550 Caliper Cover & Boots Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10056 SPLINE SHAFT DUST COVER 1

2 10074 SPLINE SHAFT COVER 1

3 10075 SPLINE SHAFT BOOT 1

4 10076 RUBBER CAP 1

OEM NO

DEEP NUMBER -  3551 Caliper Cover & Bolts Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10056 SPLINE SHAFT DUST COVER 1

2 10075 SPLINE SHAFT BOOT 1

3 11106 BOLT Ø M8 x 1.25 / 40 MM 4

4 11104 BOLT Ø M8 x 1.25 / 16 MM 2

OEM NO SJ1212 / DAF: 1522063 / RENAULT: 5001831176 
MERCEDES: 000 423 0082 / MAN: 81.50802.6007 
KASSBÖHRER: 8285388441 / ZF: 0501208810 /
 ZF: 0501209883

MERITOR TYPE

D3 ... Series



156 OEM numbers names and logos just only used for references

DEEP NUMBER -  3552 Caliper Cover,Bolts & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10056 SPLINE SHAFT DUST COVER 1

2 11106 BOLT Ø M8 x 1.25 / 40 MM 4

3 11104 BOLT Ø M8 x 1.25 / 16 MM 2

4 10074 SPLINE SHAFT COVER 1

5 10075 SPLINE SHAFT BOOT 1

6 10076 RUBBER CAP 1

OEM NO

DEEP NUMBER -  3553 Caliper Bush & Seals Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

2 16743 SPLINE SHAF SEAL 1

3 11328 SPLINE SHAF CIRCLIP 1

4 10074 SPLINE SHAFT COVER 1

OEM NO

DEEP NUMBER -  3554 Caliper Cover & Bolts Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10056 SPLINE SHAFT DUST COVER 1

2 11106 BOLT Ø M8 x 1.25 / 40 MM 4

3 11104 BOLT Ø M8 x 1.25 / 16 MM 2

OEM NO

DEEP NUMBER -  3555 Caliper Seals

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10074 SPLINE SHAFT COVER 10

OEM NO

MERITOR TYPE

D3 ... Series



157www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3556 Caliper Circlip

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11328 CALIPER CIRCLIP 10

OEM NO

DEEP NUMBER -  3557 Caliper Seals

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10109 SPLINE SHAFT SEAL 10

OEM NO

DEEP NUMBER -  3558 Caliper Seals & Circlip Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10109 SPLINE SHAFT SEAL 10

2 11328 CALIPER CIRCLIP 10

OEM NO

DEEP NUMBER -  3559 Caliper Seals

NR DEEP NR DESCRIPTION DIMENSION QTY

1 10075 CALIPER SEALS 10

OEM NO 68320507PK10

MERITOR TYPE

D3 ... Series



158 OEM numbers names and logos just only used for references

DEEP NUMBER -  11642 Caliper Gear

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11295 Caliper Shaft Roller Bearing

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11297 Caliper Shaft Roller Bearing

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3563 Caliper Wavy Washer

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11319 WAVY WASHER 5

OEM NO 68320133

MERITOR TYPE

D3 ... Series



159www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  11482 Caliper Shaft Bush

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  11175 Caliper Adjuster Calibration Bolt

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO

DEEP NUMBER -  3566 Caliper Spring Set Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11257 TORSION SPRING BIG LEFT 1

2 11256 TORSION SPRING SMALL LEFT 1

OEM NO

DEEP NUMBER -  3567 Caliper Spring Set Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11259 TORSION SPRING BIG RIGHT 1

2 11258 TORSION SPRING SMALL RIGHT 1

OEM NO

MERITOR TYPE

D3 ... Series



160 OEM numbers names and logos just only used for references

DEEP NUMBER -  3568 Clutch System Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

2 11329 ADJUSTING GEAR SPRING 1

3 11256 TORSION SPRING SMALL LEFT 1

4 11257 TORSION SPRING BIG LEFT 1

5 11640 MECHANISM SPRING CASE 1

6 11191 MECHANISM WASHER 3

OEM NO 7 11192 MECHANISM WASHER 4

DEEP NUMBER -  3569 Clutch System Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11482 SPLINE SHAFT BUSH Ø 50 x 55 / 20 mm 1

2 11329 ADJUSTING GEAR SPRING 1

3 11258 TORSION SPRING SMALL RIGHT 1

4 11259 TORSION SPRING BIG RIGHT 1

5 11640 MECHANISM SPRING CASE 1

6 11191 MECHANISM WASHER 3

OEM NO 7 11192 MECHANISM WASHER 4

DEEP NUMBER -  3570 Clutch System Repair Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11640 MECHANISM SPRING CASE 1

2 11191 MECHANISM WASHER 3

3 11192 MECHANISM WASHER 4

OEM NO

DEEP NUMBER -  3571 Clutch System Repair Kit Small-Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11642 ADJUSTING GEAR 1

2 11256 TORSION SPRING SMALL  ( L ) 1

3 11319 WAVY WASHER 1

4 11175 ADJUSTER BOLT Ø M10 x 1.5 / 50 MM 1

OEM NO

MERITOR TYPE

D3 ... Series



161www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3572 Clutch System Repair Kit Small-Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11642 ADJUSTING GEAR 1

2 11258 TORSION SPRING SMALL RIGHT 1

3 11319 WAVY WASHER 1

4 11175 ADJUSTER BOLT Ø M10 x 1.5 / 50 MM 1

OEM NO

DEEP NUMBER -  3573 Clutch System Repair Kit Left

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11642 ADJUSTING GEAR 1

2 11256 TORSION SPRING SMALL  ( L ) 1

3 11319 WAVY WASHER 1

4 11175 ADJUSTER BOLT Ø M10 x 1.5 / 50 MM 1

5 10076 RUBBER CAP 1

OEM NO

DEEP NUMBER -  3574 Clutch System Repair Kit Right

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11642 ADJUSTING GEAR 1

2 11258 TORSION SPRING SMALL RIGHT 1

3 11319 WAVY WASHER 1

4 11175 ADJUSTER BOLT Ø M10 x 1.5 / 50 MM 1

5 10076 RUBBER CAP 1

OEM NO

DEEP NUMBER -  11643 Caliper Push Plate

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO 68320912 / 68321272 / MERCEDES: 0004230062 
MAN: 81.50822.0003 / RENAULT: 5001822997ZF: 
0501314109 / KASSBÖHRER: 8285388449

MERITOR TYPE

D3 ... Series



162 OEM numbers names and logos just only used for references

DEEP NUMBER -  11770 Shaft Setting Lever

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO 31932070 / 68321507 / 68321508
MAN: 81.50812.0011 / VOLVO: 
2111686

DEEP NUMBER -  11771 Shaft Setting Lever

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO 68321502
MAN: 81.50812.0009 / VOLVO: 
10552713

DEEP NUMBER -  11644 Caliper Pad Retainer Retainer Kit

NR DEEP NR DESCRIPTION DIMENSION QTY

OEM NO 68320550 / 68323027 MAN: 81.50822.0001.81 
/ 50822.0010 KASSBOHRER: 8285388450 / 
DENNIS: 6550793 / 6550795

DEEP NUMBER -  3579 Adjusting Bolt Circlip

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11330 ADJUSTING BOLT CIRCLIP 10

OEM NO

MERITOR TYPE

D3 ... Series



163www.deepcaliper.com • info@deepcaliper.com

DEEP NUMBER -  3580 Spring Housing Set

NR DEEP NR DESCRIPTION DIMENSION QTY

1 11784 SPRING HOUSING 10

OEM NO

MERITOR TYPE

D3 ... Series


	



